pAtd g s B 09 F E R pF INE BRI
[FE) ¢ 1~ 14 fEZRES 55 0 15~17FE5 1057 %Hi” PE & Fﬁirﬂpl‘ﬁ B | B
?%;r? 05\7’ FOEF S () SENVIERT > S (xHk)=/(x)+2k > £(1)=5 0 [ f(x)= 2
2.7 f(x)=xM 4+ xP X PHx x BBN] P x pUsREt o

a(x+a) b(x+b) c(x+c)
(a=b)(a—c) (b—c)(b—a) (c—a)(c—b)

3.F%a, b, c VTR ) f(x)=  HI

a+b+c
f(2

=7

(fl1Ee5" 101 P8l)

4. i V10+63+310-63= ?

x+xy+y 2+3\F
X +y’=6

Eﬁﬁﬁj%&[#h
6. - A\NABC PJ%B* Eﬁp » “14]1 PA=6 » PB=8 » PC=10 > i}* A\ ABC [ ?

9 .9 ., ,
—X‘I‘Ey EI\J@J\E@ ?

7. P%x yEVEE F x+y=x+)° ’,\‘j*x3+y3+2

3. F%}*P(x,y) ERIEL X2 (y— 1)< 1 fOFeE &FF i §+§1; pofet A s o) il 2
(ﬁ H@f"g 101  P220 - http://forum.nta.org.tw/oldphpbb2/viewtopic.php?t=33485)
98 =7 ]19 htp://math.pro/db/thread-811-1-3.html
99 %9?“"1/ fIT > http://www.shiner.idv.tw/teachers/viewtopic.php?f=53&t=1765

0. =151 146=5"+11" » 218=7"+13> » FYK] 146X 218=31828 . 1 [ty i I FERGFOL 1,12
http://math.pro/db/thread-629-1-1.html

1o,uliﬂpsino<—sin[3=% ) cosoH—cosB:% » 3 tan (o — B)=

1L =110 <b<1 > 0<a<To 5= e

:(sino()log,,sina ' y= (Coso()log,cosa R (Slno()loghcosa IEI 2k, J Ti“l ‘L:,r IF’ ‘?

RGP BY10 = FpErp e sn )

12. lﬁ[ﬁ“ O T > A+ PR Y. Rl v — ok - (2= RSk V] > PRElot 147
éfh % ﬁ'#ﬁfmﬁ F,m“ﬂ E| % J,[ﬁﬂ\g#—r) & .;Ij 2 il ] on,%g’b

13. % 1002200 V[t Jr@mv B o [Vxl=12 > 11 [10Vx]=120 fopssR s 2
([a] e 3o Am2 ] pog A7)



14, BB £ (x)=Vx* =3 x7 =6 x+ 13— x*— X’ +1 U il L 2

15.=1Hta b, c LLEE ¥ X’ —ax’+bx—c=0 E SRR (D a’-3620 Q) b'227¢°
(E;JHIE}’(%% 101 P8Y)

16. P E% AABC[ ?z[ %ﬁ ' / PAB=_/PBC= ./ PCA=0 -
T esc’0=csc’ A+cesc’ B+esc’C e

(P83 101 P127)

17. 55548 rf"_FILEEﬂJ@h&xLEH?[E!\ff( x)=x"(3—x) [OlF) 5 5T G R RAR R P ~ Q - BT
(Dfrase L J%J} ! -



